20214 738 25

= = =7
52F A¥ZS pot == HM30=xF= MHEO| S Z1=F
H 11:1 - 41:13 / &3 288% (0|5 Lto| 1F Atm)

[

~ 42NN 2SS WE= XolE FAEE It AIL.

1. Olzot= C[ZRAF S22 YS FOISHAILIL] O Xt= O E=& & =+ ATt L2

(Al 11 : )
2. ChSl2 F71 29 Mgt o] A~50[A|H 1o 2A& X|7|ucta LtR?
(Al 16 : )

3. CtSl2 “Lio] #HMO[A|2 Lo FEHX[O[Y Ol=et06] FA0[ = 0| EHE|V|E HotHO|CH
D L)

(Al 19 : )

4. G2 “Ol2ete Lo &AL L7t FF20| o220 NHiLiR?

(Al 23 : )

5. CHRl2 Of=ebi FotAE o 7k &, & JAS ol2l2tn Stglet 240 fAevtar

(Al 27 : )
6. “O{2 b= Lto| 2ut Lio| WHIfA|L| Lf O-Z0| ( ) E2E8 AL AHEZE L Otg
Of 3 A 7|35t W} ehZ2 ME X&Stet=2 0
(Al 28 )
7. “Li A|CHZ} ol UALRL| LY RA==0F HESH= Ato| &0|M LIHE XA~
(Al 31 : )

8. Ol=et= OrF0[ oot XA O{EA StA|L SO S=Iot= AHE OBA StAILtR?

(Al 34 : ) 1) 2)

0. 0|Z9t2 HiEln 1 2 X|7|® 12 SOf O{=A| spACID HLtR?

(Al 38 : )

10. Hl=et A& @isk= A7F 50| A=H YLl 2o ofEsty| 272

(Al 41 : )

SdaE FEHAM LIE E20IMAM S50 MEHO| Lio| 485 o7|X| ZotH ot2 H0|H
FHO AR AE F32 MA0 HEX| @ed Ao[7| MEYLICH (Al 16:10)

*Es S OEN JIE2 E0HEAICH



